@1in

Han Zhen Automafion Technology

XP6 RIViEEH - mitE
XP6 SERIES GEAR BOX - PRODUCT SPECIFICATIONS

I

- m

@ HiHiE= Output shaft @ SR Lock nut { - P /T\, %
@ iHET Oil seal JE2= Rear cover 'y . ) O
® HIHIHRTAA Output shaft front bearing ® ABRES Solar wheel X a 2
@ 1724 Planetary gear @ %1228 Locking device i S ‘ : lc-l-n)
® $EZPA Flange inner tooth @ JSEZH - Rear cover gasket : U
A

® HH4M/E%H7 Output shaft rear bearing

I REEHN LS % Reducer Performance Data M EJ#E Sectional Drawing
& RE VERELRd
Specifications Node Number Reduction Ratio Dl el Y 140 A
4 48 130 270 560 1100
: 5 60 160 330 650 1200
7 50 140 300 550 1100
10 40 100 230 450 900
20 48 130 270 560 1100
e IIE T, Nm 25 60 160 330 650 1200
35 50 140 300 550 1100
2 40 48 130 270 560 1100
50 60 160 330 650 1200
70 50 140 300 550 1100
, 100 40 100 230 450 900
SMFHHIE T Nm 1,2 4~100 MEERERI s
EERN DR n,, rpm 1,2 4~100 5000 4000 4000 3000 3000
BAMNGEE N, rpm 1,2 4~100 10000 8000 8000 6000 6000
S ) 1 4~10 = <1 <1 <1 <1
EISEERIBE PO | arcmin 2 15100 — B <3 <3 <3
R . 1 4~10 <3 <3 <3 <3 <3 —
RIS P1 arcmin 2 15~100 <5 <5 <5 <5 <5
SEpE— ) 1 4~10 <5 <5 <5 <5 <5
FREERABES P2 arcmin 2 15~100 <7 <7 <1 <1 <7
REENITE Nm/arcmin 1,2 4~100 13 31 82 151 440
BRATEIE M, Nm 1,2 4~100 125 235 430 1300 3064
SIFmE A F N 1,2 4~100 1050 2850 2990 10590 16660
EEES hr 1,2 4~100 20000*
st o 1 4~10 >97%
B % 2 15100 294%
1 4~10 1.2 [ 3.0 [ 5.6 [ 11.9 [ 316
2 K
ER . 2 15~100 16 | 3. | 1.3 | 15.9 | 36.9
FRRE °C 1,2 4~100 -10°C~+90°C
i 1,2 4~100 EpkiiEiaiHAE (NYOGEL 792D)
PR 1,2 4~100 IP65
E a0 1,2 4~100 ES=ValL
IREE BB 1m ~
(. =3000rpm F50E% ) dB(A) 1,2 4~100 <58 <60 <63 <65 <67
W REMEETNIEE Moment Of Inertia Of The Reducer
& RE VERELnd
Specifications Node Number Reduction Ratio U e 10 [0 A
4 0.14 0.51 2.87 7.54 25.03
: 5 0.13 0.47 2.71 7.42 23.29
7 0.13 0.45 2.62 7.14 22.48
10 0.13 0.44 257 7.03 22.51
20 0.03 0.13 0.47 2.71 7.42
BiigE J, Kg-cm?’ 25 0.03 0.13 0.47 2.71 7.42
35 0.03 0.13 0.47 2.71 7.42
2 40 0.03 0.13 0.44 257 7.03
50 0.03 0.13 0.44 2.57 7.03
70 0.03 0.13 0.44 257 7.03
100 0.03 0.13 0.44 2.57 7.03
TIREEREE(i=N,/N,,) 2. BRI ITEET,,=60% of T, 3AHEE I 00rpmAT |, ERFHE B iHPOLIE.

MELIERE | {EF% 5 /910000hrs


huang
图章


R (8%, itk i=4~10)
DIMENSIONS (SINGLE SEGMENT, REDUCTION RATIO i=4~10)

B R <FE& Dimensional Drawing

% 15 Output I Input

—

g OD8h735(depth)L9 B

— . _Lioxas°

@

m

> -

& sl 2 gz Mzzsz

9|8, 8| o9 115585
Q \\
i ul s
c8 L6 L3
c4 | L8 L4
c9
B R~J%& Dimensional Table [B/&Unit: mm]
R~FSize 064 090 110 140 200
D1w 20 315 40 50 80
D2 315 50 63 80 125
D3w 40 63 80 100 160
D4 w 64 90 110 140 200
D5 79 109 135 168 233
Sm— D6 7xM5x0.8P 7xM6x 1P 11xM6x1P 11xM8x1.25P 11xM10x1.5P

D7 86 118 145 179 247
D8 w 5 6 6 8 10
D9 55 77 90 113 138
D10 8x4.5 8x5.5 8x5.5 12%6.6 12x9
D11 w 70 95 120 152 212
D12 63.2 89.2 109.2 139.2 199.2
L1 8 12 12 12 16
L2 8 135 135 17 225
L3 3 6 6 9 8
L4 195 30 29 38 50
L5 7 10 10 14.6 15
L6 4 7 8 10 12
L7 7.1 8 10 12 15
L8 28.5 27 37 62 69.5
L9 6 7 7 7 10
L10 05 1 1 1 1
c1* 70 100 130 165 215
c2' M5 x0.8P M6x 1P M8x1.25P M10x1.5P M12x1.75P
c3' *<14/<16 <19/<24 <32 <38 <48
c4' 34 40 50 60 85
C5' & 50 80 110 130 180
c6' 8 4 5 9 6
c7' 60 90 115 142 190
cs* 19 17 19.5 225 29
c9' 82.5 99.5 1215 151 199.5
c10' 135 10.75 13 15 20.75
0D 66x2 90x3 110x3 145x3 2005

*060 5,10 JHIERELIRALCI< 1675,



R< (7%, miEkk i=20~100)
DIMENSIONS (DOUBLE, REDUCTION RATIO i=20~100)

Il R <J& Dimensional Drawing

5y Output N Input r:]E-l
—
®DBhT3F(depth)L9 B g
Lo’ >
®
) m
/ >
o = - L | = 2y
[+ (= o i —|l= gl
5 8 8 NESEE
%O» w7l s |
c8 L6 L3
Ca L8 L4
c9
B R~J3& Dimensional Table [B{7Unit: mm]
RJSize 064 090 110 140 200
D1w 20 315 40 50 80
D2 315 50 63 80 125
D3w 40 63 80 100 160
D4 w 64 90 110 140 200
D5 79 109 135 168 233
D6 7xM5x0.8P 7xM6x1P 11 xM6x1P 11xM8x1.25P 11xM10x1.5P —
D7 86 118 145 179 247
D8 w 5 6 6 8 10
D9 455 53.4 77 102 125
D10 8x4.5 8x5.5 8x5.5 12x6.6 12x9
Dilw 70 95 120 152 212
D12 63.2 89.2 100.2 139.2 199.2
L1 8 12 12 12 16
L2 8 135 135 17 225
13 3 6 6 6 8
L4 195 30 29 38 50
L5 7 10 10 14.6 15
L6 4 7 8 10 12
L7 7.7 8 10 12 15
L8 65 60 87.5 110 132.5
L9 6 7 7 7 10
L10 05 1 1 1 1
cr’ 46 70 100 130 165
2’ M4 x0.7P M5 x0.8P M6x 1P M8x1.25P M10x1.5P
c3’ *<11/<12 <14/<15.875/<16 <19/<24 <32 <38
c#’ 30 34 40 50 60
C5 w 30 50 80 110 130
c6’ 35 8 4 5 6
&7F 48 60 90 115 142
g’ 19.5 19 17 19.5 225
co’ 108 134 160 204 248
c10° 13.25 135 10.75 13 15
0D 66x2 90x3 110x3 145x3 200x5

*060 5,10 IR ELIRHLC3< 167 15,




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20

